
601R-3 DOOR PARTS LIST
Ref # Part # Description

1 4134353 Refrig. Door Assy, Frame/Overlay - RH

4134354 Refrig. Door Assy, Frame/Overlay - LH

4134503 Refrig. Door Assy, SS - RH

4134504 Refrig. Door Assy, SS - LH

4135663 Door Assy, SRVC, 601R-RH, B

4135664 Door Assy, SRVC, 601R-LH, B

4135863 Door Assy, SRVC, 601R-RH, P

4135864 Door Assy, SRVC, 601R-LH, P

NOTE:  Door Assy’s do NOT incl. hinges, handle or switch depressor.
2 6200720 Screw, #8-18 x 1/2 Ph Truss Hd

6200721 Screw, #8-18X1/2 Ph Low Prfl, B

3 2230608 Door Trim, Top LH

2230609 Door Trim, Top RH

4 3511310 Door Trim, Hinge Side - Mitered Corner

3511410 Door Trim, Hinge Side - (SS Model)

3512221 Trim, Door Hinge Side-Carbon

3512222 Trim, Door Hinge Side-Platinum

5 6200720 Screw, #8-18 x 1/2  Ph Truss Hd

6 2230606 Door Trim, Bottom LH

2230607 Door Trim, Bottom RH

7 0185180 Depressor, Door Switch-Silver 

3421990 Depressor, Switch (Black)

8 6201300 Tapping Screw, #8 x 1/2 

9 3420250 Gasket Retainer, Side, 57.875 

10 3420220 Gasket Retainer, 33.312"

11 6200410 Screw, #8 x 1/2 Slot Head Hex

12 4132230 Door Handle Assy (Framed)

4132330 Handle-side Door Trim (Overlay)

13 3413340 Handle/Trim End Cap

14 6180160 Rivet, Open End Blind, 1/8 X 3/16 

15 6201300 Tapping Screw, #8 x 1/2 

16 4132370 Handle/Trim Molding Assy

17 3451140 Magnet, Trim Strip - 3"

18 4133690 Handle Assy, SS OBR Standoffs (Incl. Stand-offs)

4133691 Handle Assy, OBR Standoff, B (Incl. Stand-offs)

4133692 Handle Assy, OBR Standoff, P (Incl. Stand-offs)

19 3512150 Standoff, SS Oval, Door

3512151 Standoff,Oval,B

3512152 Standoff,Oval,P

20 6110540 Bolt, #10-24 x 1/2  Flat Socket HD

21 3511520 Handle Mounting Stud

22 6110730 Set Screw #10-32 x 1/4  SS Cone

23 4330490 Dairy Compartment Assy (Incl Gasket)

24 3211820 Dairy Compartment Gasket

25 4330480 Door Shelf Assy

26 4330530 Gallon Door Shelf Assy (Sales Acc.)

27 3212100 Door Gasket

Part Lists & Exploded Views Built-In Built-In ((600-33)) SeriesSeries

4#7003193 - Revision A - July, 2006


	next page: 
	main: 
	Previous1: 
	600-3: 


